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Kinesiology and Biomechanics
Paper : BCC-402

4

Full Marks : 70 Time : 3 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

Answer all the questions.
UNIT-I

1. Define the following fundamental moveme.nts at a
joint (any four)
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a) Flexion
- IO
b) Adduction
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¢) Circumduction
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d) Dorsi-flexion
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¢)  Supination
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What do you mcan by tie tern: *‘Anatomical

Position™? Write in brief about the history and

development of kinesiology.
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What is Body Planes? Write in brief about major
body planes. Mention the names of the perpendicular
axis on each fundamental planes. Write down the
row of Centre of Gravity for maintaining the
equilibrium. 2+6+3+4=15
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UNIT-II

What do you mean by the term ‘Force’? Write in
brief about the external forces that exist in the field
of Sports. What is mechanical advantage? Discuss
second class lever and its components with suitable
examples from daily life and human body.
2+6+2+(3+2)=15

_ S4(F) 31
[ —

e 4T B A TR GG AR TG e
s @ mmﬁﬂmﬂwwimqﬁm
2 e i et @ o e sl T 19
aazmﬁﬂﬁmemﬁﬂamﬁﬁaﬁ@mw

rnm/
' OR/ =¥l

What do you mean by the term ‘Projectile’? Write
down the characteristics of projectile motion. Give
few examples of projectile motion from sports field.
Write down Newton’s laws of acceleration and from
this law establish the equation of measuring force
i.e P=mf where the symbols indicating their

conventional meaning. 2+5+2+(2+4)=15
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UNIT-HI

What are the various types of muscle contraction?
Briefly explain various types of muscle contraction.
Why isotonic ‘contraction is also called ‘dynamic
contraction’? Distinguish between iso-tonic and iso-
metric contraction of muscles. 11+6+13+6=15
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What is joint? What are the various types of joints?
Briefly explain the siructure and various movements
of shoulder joint. What do you mean by the term
‘Angle of Pull’? In which angle of pull the muscle

tone become maximum? 2+3+7+2+1=15

PP SN SOy
H%2 oA ¢ Rfen 4fel e #frg srarsal w9
‘ARTA-E T B QAR AAIDE @R T TS
o5 TgS (AAI0E FEw 2 7
UNIT-IV
a)  Define the following terms (any five):
2x5=10
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i)  Moment of Inertia
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T~ i) Couple
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iii)  Stability
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iv) Centre of Gravity
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v) Momentum
ISR (SR
vi) Limiting friction
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vii) Angular Acceleration
e =
viii) Instantenious Velocity
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b)  Write short notes on any one of the following:
5x1=5
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i)  Angular velocity and its factors
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ii) Conservation of angular momentum in
sports
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UNIT-V

5. Answer any ten questions. Put tick’(«f) mark on

correct answer (MCQ): 1x10=10
i)  The author of the book ‘Principia Mathematica
Philosophiae Naturails’ is—
a) Luige Galvani
b) Alfanso Borelli
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¢) Claudius Galven
~d) Issac Newton
ii) According to the law of conservation of
angular momentum, if moment of inertia
decreases then—
a)  Velocity will decrease
b)  Acceleration will decrease
¢)  Radius of Gyration increase
/d) Angular Velocity increase
iii) The common point of all the three fundamental
body planes is called—
a)  Centre of buoyancy
b) Centre of mass
c) Centre of Gravity
~ d) None of these
1iv)  Which of the following parameters is a scalar?
~2) Speed
b) Velocity
c) Acceleration
d) Displacement
v)  Which of the following factors inversely
proportional to stability?
a)  Mass of the body
b)  Area of Base of Support
¢)  Friction of control surface
;d{ Height of the C.G
6

~vi) In which angle of Pr

ojection the height of the

projectile will be maximum?

o

a) 90
_~b) 45°

c) 44.5°

d) 42°

vii) In C.G.S system the value of gravitational

acceleration is—

_—a) 981 cm/S?
b) 9.8 m/S?
c) 32 fv/S?
d) 89 cn/S?

viii) Which of the following equations indicates
the relationship between linear acceleration

and angular acceleration?

> a) V=ro
b) f=ra
¢) S=r0
d) @=2mn

ix) In case of first class lever the following is
located
a)  One side of the liver
b) Between force and resistance
P ¢) Between two resistance
d) Between two force
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X)  Sequential combination of all the angular
movements is called—

a) Flexion
b) Extension
c) Adduction
<« d) Circumduction
X1) (\i"rastrocnemius muscle is located at—
a) Chest
<~ b) Lower leé
5 o Upper Arm
d)  Thigh
xil) Impulse of force is equal to—
a) Change of mass
b) Change of velocity
<) Change of Acceleration

—4d)  Change of momentum

S4(E) (81

SRR WP e—



